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1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.
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1) How many square numbers are there from 101 to 200? [3.0%]

B 101 Z200 Zf, X5 MAFHE?

2) Find the 8" term of the sequence below. [3.1%]

KIATETI P 8 IHAIEE.

—1,3,8, B9 "

3) How many non-positive integers are there in between —9.3 and 7.7? [3.2%]

£ I93ETTZEEES/MEIEEEE?
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4) John is P years old. Sam is P years older than John. What is the sum of their [3.3%]

ages after 5 years?

ASEPRE, CERXPRK. 5%, BNMZHRBZAESD?

. 2—z 33—z 4-z
5) Solve the equation 3 "1 -3 - [3.4%]

pigo 2—z 33—z 44—z
fE A= 3 + )

6) The figures below are formed by squares with side of 2. What is the area of [3.5%]

the 2n-th figure?

UTEEERHERR 2 B/NEFRFAAAR. K% 27 BERETE.

= = =
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7) Adam, Ben, and Carl have $3000 altogether. Adam has $100 more than five [3.6%)]
times the money Ben has. Carl has $200 less than four times the money Ben

has. How much does Carl have?

H. 2. AZAH#E 3000 T. FAMLLZHSEZ 100 T, MARAR
tEZH 44540200 T£. FIRES DT

8) If each side of an equilateral triangle is increased by 3 cm, the perimeter of [3.7%]

the new triangle is 1% of the original one. Find the side length of the original

triangle in cm.

ER—ESE=AUNSRER Son, EHHARBRERN 1 4.
FASE=ATMERES VEX?

9) The reflex angle formed between the hour hand and the minute hand of a [4.8%]

clock at 3:30 1s #°. Find n.

EEMATHIRERZ 3:30, BEHRESEHERBNRAR n° K n.
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10)  In an office, 80% of the staff were male. After hiring 5 more female staff, the [4.9%]
percentage of female staff increases to 25%. Find the current number of staff

in the office.

BEREIEE 0N WEIREM. EFAT SNLXEIE, TEIE
BEEEETH 25%. ZATREE TS /IMI?

11)  The distance between town A and town B 1s 400 km. A car traveled from town [5.1%]
A to town B at a speed of 100 km/h for part of the journey and then decreased
its speed to 80 km/h for the rest of the journey. If the total traveling time was

4.4 hours, how many kilometres did the car travel at the speed of 100 km/h?

B. ZMIEERE 400 km. —BRSEHBIRATE I, £#IL 100 km/h
1TEE, FEIMIEZE 80 km/h, EERIELI . HHEERER 4.4 INF,
RELL 100 km/h {TEFRIRRFER BN E?
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12)  Inthe figure, ED = 5 and the area of the shaded region is 75. Find the perimeter [5.2%]
of ABCDE.
hEEIMMERER 75, ED=5. X ABCDE HIER.
y
A
A(-3,5) E@3,5)
D (6, 1)
» X
B (-3,7r) C(6,r)
13)  For how many integers n is (3n + 7)(5n —16) a negative number? [6.3%]

BEGn+7Gn-16) NREE, n BSDEEEATEME?
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14)  The figure shows the net of a cuboid. If the total surface area of the cuboid [6.4%]

formed is 228 cm?, find the volume of the cuboid in cm?3.

MUTE—ERAFENEBRERE. MERAFAENREERES 228 cm?,
THEER S DI AER?

£

(@]

O

< >
30 cm
15)  Inthe figure, AB // CD // EF. Find the length of CD. [6.5%]
Bl AB//CD//EF, k CD HIRE.
A 4 B
3
C D
2
E F
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16) What is the remainder when the 100-digit number 20192019...2019 is [6.6%]
divided by 7?

B 100 FIE7 20192019...2019 BRLL 7 BF, SAEIE &/

17)  In the figure, ABCD is a trapezium, DC = 2AE, and AE = 2EB. If the area [6.7%]

of AEBC is 24 cm?, what is the area of AECD in cm? ?

B+ ABCD —{E# . DC = 2AE & AE = 2EB. #$ AEBC W
T~EE 24 sz’ Fl:ﬁ AECD mﬁ*ﬁ%g{l/\zFﬁE ste 9
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18)  Inthe figure, a cuboid with 5 cm long, 4 cm wide and 15 cm high is vertically [6.8%]
placed in a tank with part of it above the water level. Find the rise of the

water level in cm.

ME, E—ERScm: M4cm, FI5ScmBIRAEEEMNDTEE
RAEMN—FHMEKEZLE. BXKELEATZDEX?

8 cm
¢ 15 cm 15 cm

24 cm 24 cm
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19) Inaclass of 40 students, 75% of them like football, 80% of them like basketball, [6.9%]
and 65% of them like volleyball. Each student in the class likes at least one
of the sports above. If n students like all the three sports, find the smallest

possible value of 7.
—MEEF 40N, BEREEHGEIKAME 75% . SEFTEKAIE 80%

EEMTHEEREME 65%. HEBRS2EZ DI E—TERNIKE, MA &
SLESHEHM=MERE, Ko RN TTEEE.

i

20) Let ABCD be an arbitrary 4-digit number. Define [7.0%]
p(ABCD) =AABCD + BABCD + CABCD + DABCD

Find the last two digits of p(2019).

& ABCD h—EEEMAE. &
p(ABCD) :AABCD + BABCD + CABCD + DABCD
K p(2019) & 1& 1B AL HIEUE -

End of paper
e
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ANSWER SHEET

REG NO

NAME

GROUP

SEAT

1 4 ok 240 O
2 15 o i 34 O
: 10 ol 6 o
; 3P + 10 o 216 .
: —7/ ik 7 0
T len? o* 3 0
7 1040 Sk 144 O
: ) ok = ®
: 285 o 3 o
10 80 o™ 78 O
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